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Instructions regarding filling of OMR Sheet are | = 31UH.31R. ofic JFaf-erd fcer 30 ua3MR. offe W fera 31
PRI NAQE mentioned on the OMR Sheet only.

ym P I a The duration of the exam s 12 Hours. @ Udlen 3fafd 11, que &l i

The Question Booklet consists of 100 Questions, | = gauﬂa]gﬁﬂaﬂﬁ 100 U 2 de11 U U2 4 3ihl &I

each with 4 Marks. The maximum Marks are 2 | iftra 3id 400 E |

400.

Subject-wise division of 100 Questions are as | = el 100 el I fawIaR faaeur 58 UBR 2 : a1fvrd-25,

follows: Maths-25, Science-25, S.St.-20, [%'S“:'_25’ arhie 3IERI-20, 3falst-20 3ie wEfe®

English-20, MAT-10. Ao TAEUI-10 U |

Candidates will be awarded 4 Marks for the | & aﬁm@]ﬁwuﬁmﬁ4mmﬁ)—am|

indicated correct response to each question.

One mark will be deducted for the incorrect | =  ared 3ae G UR Ufd Ue 1 3it Pler SIRIoN |

response to each question.

Space for rough work is also provided in the | = Uﬁﬂlqﬁﬂﬂﬂﬁﬁmi\ﬁfﬁulﬂmﬁmaﬁﬂﬁ :

Question Booklet. 2

2 . . 1 2
01. Find a rational number between the given terms : — & 3 | 01. AU IV Uei & d1a T U ERaT SI1d dIfoY :5 3R 3
I
7 13 7 13
- - | 1) — 2) —
6 4 | 6 4
G 3 O L O3 O
02. Which of the statements below is correct? | 02. <o few U woAl § & 9 a1 |Er 87
(1) When it comes to division, natural numbers are I (1) 91§ fq\roE @ 919 *me ©, ol AT fcd Ry
associative. | NIRENRSGIRS
(2) When it comes to division, whole numbers are | (2) W9 oo &1 91 31T ®, o 11”1( TR g
associative. | Bl B

(3) 19 fowTS @) 91d Tl 8, @1 Yuries g ad BId &

(4) <9 faWTST @1 91 3MTell B, AT YR Ty g R
81 BIdT 2 |

Space for IRough Work

(3) When it comes to division, integers are associative |
(4) When it comes to division, rational numbers are not |

associative. |
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04.

05.

06.

07.

08.

09.
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7
What should be added to — =

3 to get 7?

21 58
) 53 @ 5

47 50
3) 37 @ 3
Three consecutive integers add up to 51. The integers
are:
(1) 16,17.18 (2) 15,16, 17
(3) 17,18,19 (4) 18, 19,20
Solve : 4(m—4)=5(2m-5)

3 5
1) 7 @ 5

9 7
Q)5 @7
Which of the following is a regular quadrilateral?
(1) Kite (2) Square
(3) Rectangle (4) Trapezium

Which of the following quadrilateral is the one whose
diagonals are perpendicular to each other?

(1) Rhombus
(3) Trapezium

(2) Parallelogram

(4) Rectangle

A diagonal of a rectangle is inclined to one side of the
rectangle at 25°. What is the measure of the acute angle
between the diagonals?

(1) 25° (2) 40°

(3)50° (4)55°

If one of the angle measure more than 180° in a
quadrilateral, then that is known as .

(1) a parallelogram (2) a concave quadrilateral

(3) a convex quadrilateral (4) a trapezium

| 03.

0

4
5

|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
| 08
|
|
|
|
|
| 09
|
|
|

0s.

06.

07.

08.

09.

—g ﬁwmmﬁswgsﬁm’?

58
() = @ 5
50
® 5 @ 57

. M SPARTT qurtee! &l IIRT 51 BIaT © | IONidb &

(1) 16,17, 18 (2)15,16,17
(3) 17,18, 19 (4)18,19,20
4(m-4)=5(2m-5) &I 5 BN —

3 5
1) 7 @ 5

9 7
Q)5 @7
frrferRad # & aiwr o frafia agis 87
(1) gaT (2) ot
(3) smad (4) HAcAq
Fr=tierfad & & i |1 IS a8 © o9 f[9ael v
TR IR dqad 57
(1) wagds (2) AR TG
(3) HHTH (4) 3mad

U 3R H1 U [Ah0T JMId dl Teb aR 23° U el
831 & | faaolt & dra =4 PIvr &1 A9 FT 87

(1) 25° (2) 40°

(3) 50° (4) 55°

Ife TP W T o1 180° | 3feds Aaar B, 4l S
.................. & ®Y H ST ST B

(1) T TR agds  (2) T 3fadet agds

(3) UF IO AT (4) TP e agH

Space for IRough Work

PCP, Sikar

Class : VII1/Q-4 I
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Which of the following statements is true?

(1) Every square is a rhombus

(2) The diagonals of a rhomlous are equal

(3) The diagonals of a rectangle are perpendicular

| 10. Frafefad # & @9 @ dom T 87

(1) A% of U6 FHITH © |
(2) TFaTS & fadmof aveR B B |
(3) T AT & fAwol digad gid &

I
I
I
I
(4) None of these | (4) =TH ¥ I .
11. If 2(x—3) =288, then x can be : 11. A 2(x—3)° =288, TG x BT AT BRI —
(1) 13 ) 12 | (1) 13 ) 12
3) 11 4) 15 | 3) 11 4) 15
12. The number must be subtracted from 13245 to get a | 12. T’T T U B B foTu We=aT 13245 § 9 °GTTE SIH
perfect square is . I AMBY ... I
(1) 15 (2) 20 (1) 15 (2) 20
3) 11 4) 10 I 3) 11 4) 10
13. Find the smallest square number which is exactly divisible | 13. I8 99 BIET T TRAT A1 BT SF 15, 25 3R 30 &
l()y) 15,25 and 30 is. o150 | Eu)i?srzo(f?mﬂva Bl | o150
1) 500 |
(3) 100 (4) 900 | (3) 100 (4) 900
I
14. If [2—ij=[1+ij then x equal | 14. af2 [2—ij=[1+ij X aRIER i
: 121 11)° q | 121 11 ) A SRS
(1) 4 21 I (1) 4 21
(3)3 (4)2 O (4)2
15. How many zeros will be there in the cube root of the : 15. H&IT 8000000 & THe H fdhe T BRI?
number 80000007 |
(16 2)2 | (16 2)2
31 43 I 31 43
16. What is the smallest number by which 88 should be | 16. I8 He BIET W&AT ®H A & [THH 88 &I fawrford
divided to get a perfect cube? | H R TP gU O U BT 67
()11 )7 I ()11 )7
39 5 39 5
17. What is the percentage of discount if the product that I 17. IfE TG BT HIAd 35,000 I & Al ©C T Ufcrerd @ T
cost Rs. 35,000 is sold for Rs. 33,2507 | 87 Al I 33,2509 ¥ ST Il & |
(1) 2% (2) 3% | (1) 2% (2) 3%
(3) 4% 4) 5% | (3) 4% 4) 5%
Space for Rough Work
PCP sSikar  Class: vil/o-4 I IT-JEE | NEET | OLYMPIADS 3
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18. The cost of a pair of shoes at a shop was Rs.250, the | 18. UP GBI UR Al &l did 250 wud o, 967 #R 5%
sales tax charged was 5%. Find the bill amount? | o T | faa fdr A1 we?
(1)262.5 (2)24.5 | (1)262.5 (2)24.5
(3)242.5 (4)262.8 | (3)242.5 (4)262.8
19. An article was purchased for Rs.5900, including GST | 19. U& g% 5900 $u H @I e, fS7H4H 18% SICHTT 41
of 18%, find the price of the article before GST was : A &, SIUAST Siis ¥ Ul o &I did =Td
added? HITTT?
(1) 5400 (2) 5600 : (1) 5400 (2) 5600
(3) 5000 (4) 5800 | (3) 5000 (4) 5800
20. What amount is to be repaid on a loan of Rs. 14000 for | 20. 14000 $9J & 01 UR fdaeil IRT Gl BRI? 3R
1 | 1
15 years at 10% per annum compounded half yearly. | el 15 aui & fofv 2 3iR 10% a1 <= 81, oI TSl
I 1 IO Tshals ATl UR G TN &l ST 8 |
(1) 16965.75 (2) 17206.75 | (1) 16965.75 (2) 17206.75
3) 16206.75 (4) 14965.75 | 3) 16206.75 (4) 14965.75
21. The class mark of the class 20-30 is . | 21. @M 20—30 &1 T g ........ =
(1) 20 ) 30 | (1) 20 ) 30
(3)25 4) 10 I (3)25 4) 10
22. In histogram which of the following is represented by | 22, e # f=faRad § 9 {69 smal &1 Sa. gRT
the heights of the rectangles? | eI ST 87
(1) Frequency (2) Class interval | (1) gl (2) T 3AARTA
(3) Class size (4) Range | (3) T BT MBR (4) Srr
23. How many outcomes can be obtained by tossing 2 coins? : 23. 2 Riad SoTeq WR fhad g g g
D1 2)2 D1 2)2
Do o
I . .
24. In the interval 50-60, 60 is called | 24. 5060 & # 60 T WIICT §
(1) upper limit (2) lower limit | (1) U A (2) Tr=elr
(3) range (4) frequency | (3) ¥ 4) srmgf
25. The range of the data: I 25. STl &l for
6,14,20,16,6,5,4,18,25, 15and 5 is | 6,14,20,16,6,5,4,18,25,15 3R 5 &
(1) 4 ()21 | (1) 4 ()21
(3)25 (4) 20 | (3)25 (4) 20
Space for IRough Work
PCP sSikar  Class: vil/o-4 I IT-JEE | NEET | OLYMPIADS 4
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26. HIA Tk BT T I FIT 57
(1) B &I USTAR @M1
(2) THET BT IRAT BH BRI
(3) @it Ud I uR =0T AT
(4) STel HREToT BT
27. BAdl B 31fId SUST <A dTell fhl BT SYART H-A |
frforRaa % & @19 a1 o 27
(1) BOd &I GSTaR H HHY
(2) Ul BT AT § i
(3) &I AETRierdr | gur
(4) T gR&T | g
28. HOA 3ATET H SARb! BT Urdfie HrRf FIT 272

. What is the main purpose of crop rotation?

(1) To increase crop yields
(2) To reduce soil fertility

(3) To control pests and diseases

(4) To conserve water

27. Which of the following is a benefit of using high-vielding

varieties of crops?

(1) Reduced crop yields
(2) Increased water requirement
(3) Improved drought tolerance

(4) Increased food security

28. What is the primary function of fertilizers in crop

production?

T
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
(1) To control pests | (1) ®iel uR 30T &Rl
(2) To provide water I (2) STl IUAET BRIAT
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|

(3) 3MALIF UINd i DI MYl BRAT
(4) THET BT \EAT H FEIR BT
29. BHA IAET H Pl JdUT B 4 AT ol 67

(3) To supply essential nutrients
(4) To improve soil structure
29. What is the main goal of pest management in crop

production?

(1) B Pl USTAR FTT
(2) THET BT IRAT BH BRI
(3) Bt BIF BT bl
(4) STel HREToT BT
30. HEA IUTE ¥ FaT Yo R Agagul 87
(1) g @ g91ae MeiRa o
(2) =1 ST AT &1 YB e Al
(3) v e AT iR dive wR iR & & forg
(4) 9~ & oot a1 afosgarf e

Space for Rough Work

(1) To increase crop yields

(2) To reduce soil fertility

(3) To prevent crop losses

(4) To conserve water

30. Why is soil testing important in crop production?
(1) To determine soil texture
(2) To identify soil-borne diseases
(3) To determine nutrient content and pH level
(4) To predict weather patterns

PCP, Sikar  Class:Vill/Q-4 I IT-JEE | NEET | OLYMPIADS 5
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31. Which of the following is essential for combustion to I 31. fy=falRad § 9 991 <84 89 @ forg magas &7

occur?

(1) 399, 3ffa=iio s i

(2) e, =Y SR T

(3) 29, Mo iR TBr

(4) e, T 3R UbTeT

qu} T8 &I SUIATE RIT 87°

(1) e AFRTRIES 3R g

(2) ®E SEBifaTgS 3R ur=ir

(3) FE SBifRIES iR Hed AFRTIES
(4) BT AFRITRIES 3R sifa=iror

. T8 & [OY AR <LAdH dI9H T 87

(1) Fuel, oxygen, and heat
(2) Fuel, water, and heat

(3) Fuel, oxygen, and light
(4) Fuel, water, and light

32. What is the byproduct of complete combustion? 32.

(1) Carbon monoxide and water

(2) Carbon dioxide and water

(3) Carbon dioxide and carbon monoxide

(4) Carbon monoxide and oxygen

33. What is the term for the minimum temperature required | 3

I
I
I
I
I
s
I
I
I
I
I
| 3
for combustion to occur? |
(1) Flash point (2) Ignition temperature | (1) weiwr fag (2) ST QYA
(3) Burning point (4) Melting point I (3) <5 fig (4) e
34. In which zone of a candle flame does complete | 34, AMeRN P ol & b &= d gof g8 giar &7
I
I
I
I
5
I
I
I
I
I
I
I
| 6
I
I
I
I
I

combustion takes place?

(1) Nad &= (2) W= &

(3) Y 918 & (4) 3 &1
frfaRad & 9 319 A1 Tidbar ol 31 e 87

(1) Innermost zone (2) Middle zone
(3) Outermost zone (4) Non-luminous zone
35. Which of the following is a characteristic of a luminous | 35.

flame?

(1) IE PIS YT S~ 8] Bl
(2) I8 OralT a1 AR [T SA BT B
(3) T8 el T S~ Bl B
(4) TE PIT ST ST el Bl
. UrIl Ud SRl & SReTT T X el a7 57

(1) It produces no light

(2) It produces a yellow or orange color

(3) It produces a blue color

(4) It produces no heat
36. What is the main goal of conservation of plants and | 3
animals?
(1) 39T STTHEAT 9T
(2) AW STl bl J&Tl HNAT
(3) Tl BT BT B g@Tar T

(4) To encourage hunting | (4) RIPR B AT BT

Space for IRough Work

(1) To increase their population

(2) To protect endangered species
(3) To promote deforestation

PCP, Sikar  Class:Vill/Q-4 I IT-JEE | NEET | OLYMPIADS 6
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37. Which of the following is a threat to plant and animal I 37. Te=foriRad | & B A1 Uk SR Ug] ERET0T & ol WaRT
conservation? | g7
(1) Habitat destruction (2) Climate change | (1) 3frarsy =TT (2) Sietaryg gRac=
(3) Pollution (4) All of the above | (3) wgmur (4) SRKRH AT
38. What is the term for the movement of animals from one | 38. HISH, YT AT M B TAT | SoRI & Ueh I 9
place to another in search of food, water, or shelter? : W R T ST BT aAT Had 82
(1) Migration (2) Hibernation | (1) warad (2) hafasT
(3) Adaptation (4) Extinction I (3) 3rgded 4) faafea
39. Which of the following organizations works to protect | 390, formferRaa W & @Yo @ e AT G bl J&TT
endangered species? I & fog d™ PRar 57
(1) TUCN (International Union for Conservation of | (1) SMSIHA (PRI & eIV & o7y SR we)
Nature) |
(2) WWF (World Wildlife Fund) | (2) SgsgU®h (fdea a=goiia FFRe
(3) UNESCO (United Nations Educational, Scientific I (3) Bl (HY<h ey WfeTd, A 3R Aiepiid
and Cultural Organization) | RiUGE)!
(4) All of the above I (4) SIRIH T
40. What is the term for the process of protecting and | 40. o=t & &I Ud HRETU Bl UishAT Pl T HEd 87
preserving forests? I
(1) Afforestation | (1) T=RIgor
(2) Deforestation | (2) T B BT
(3) Reforestation | 3) F:EFRTWT
(4) Conservation : (4) ERTI
41. What is the process of converting plant material into | 41. HIqY AT B BiIel | gRafida &= & ufshar
coal called? | HEAT 87
(1) Carbonization (2) Decarbonization | (1) BrEAETSORE WESICACIBIESES]
(3) Hydrogenation (4) Oxidation I (3) BTSSRI (4) SifaATHRoT
42. Which type of coal is the softest and most polluting? | 42. {hd IhR BT HRIAT A =T 3R H 3P TGYUBR]
| Il 87
(1) Anthracite (2) Bituminous I (1) TeNIIge ) Refamra
(3) Lignite (4) Peat I (3) fer=ge (4) Ure
Space for IRough Work
PCP sSikar  Class: vil/o-4 I IT-JEE | NEET | OLYMPIADS 7
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43. What is the main use of petroleum? | 43. UQITTIH BT H= IUART &7 87
(1) Electricity generation (2) Industrial processes I (1) TaSTelT Scare= (2) 3ienfire ufdarg
(3) Transportation fuel  (4) Heating homes | (3) gRagd e (4) == BT ITH HRAT
44. Which of the following is a byproduct of petroleum | 44. fr=feiRad # & ®F ugiferad weM &1 U &7
refining? |
(1) Natural Gas (2) Coal : (1) ATpfde i (2) BRIAT
(3) Petrol (4) Diesel | (3) Ugid 4) S5
45. What is the process of extracting petroleum from the | 45. SHIF | UgIferad MebTe &1 Ufhar da1 dedrh &7
ground called? |
(1) Drilling (2) Refining | (1) Tsferr (2) TEA
(3) Exploration (4) Extraction I (3) 3r=mor (4) TRy
46. Which of the following microorganisms is a friend to | 46. frfaiRad | & P19 |1 gesrolg 9= &1 73 87
humans? |
(1) Salmonella (2) Lactobacillus I (1) ATcH T (2) aerafes
3)E. coli (4) Staphylococcus | 3y (4) Rfbaipisd
47. What is the term for the process by which microorganisms I 47. 9 UfhAT BT R H8d © oD gIRT IS CICIRED
break down organic matter? | garef Bl dred 87
(1) Decomposition (2) Fermentation | (1) sggeH (2) Tbvaa
(3) Respiration (4) Photosynthesis I (3) Ta (4) BT HTATOT
48. Which of the following diseases is caused by a | 48. f=falRaa & & o9 &1 A7 IS & PHIROT BIAT 57
microorganism? :
(1) Cancer (2) Diabetes | (1) PR (2) AEAT
(3) Tuberculosis (4) Asthma | (3) & I (4) 3R
49. What is the term for the study of microorganisms? | 49. GeHGIdl & YT DI RIT BB &7
(1) Microbiology (2) Virology : (1) ATSshIaTATATSH (2) ATIRTATSH
(3) Bacteriology (4) Mycology | (3) Sirary] fasmm= (4) ATSHIATS
50. What is the term for the process by which microorganisms | 50. 39 AlshaT &I T dEd & oD gRT NaNIC) L CID LR
produce antibiotics? | BT TG P ©7
(1) Fermentation (2) Respiration | ) fvem Q) T
(3) Photosynthesis (4) Decomposition I (3) ThTT HATOT (4) 3qgcH
I
Space for IRough Work
PCP sSikar  Class: vil/o-4 I IT-JEE | NEET | OLYMPIADS 8
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52.

53.

54.

55.

The Tenth schedule to the constitution is:

(1) Provisions regarding validation of certain Acts and
Regulations

(2) Provisions regarding disqualification on ground of
defection

(3) Provisions regarding the Administration and Control
of Scheduled Areas and Scheduled Tribes

(4) More than one of the above

The original Constitution of India was handwritten by

(1) Rafi Ahmed Kidwai

(2) Kailash Nath Katju

(3) Prem Behari Narain Raizada

(4) Kanaiyalal Meneklal Munshi

Which of the following countries is India’s federal system

related to ?

(1) Canada

(2) United Kingdom

(3) Ireland

(4) United State of America

Which article of the Indian Constitution guarantees the

right to freedom of religion ?

(1) Article 15 (2) Article 21

(3) Article 25 (4) Article 30

What is the significance of secularism in a democracy?

(1) Ensures religious harmony

(2) Promotes equality and justice

(3) Protects minority rights

(4) All of the above

| 51. <ifeem @) <wdt s &

53.

54.

2. WA &1 Yl HiAe=

(1) % e iR fafesi & efigeor & IR #
PICIE]
(2) TIad @ AR UR R[IAAT B R H HIae=

(3) ST &= 3R TG SRl & RN 3iR
[BREUICACINE I IE]
(4) SIRRH H§ A T W 31D

(1) YT 3rEHs fheag

(2) DT T BT

(3) U9 BRI ARV ISIRT

(4) DoUTATA HTchetTel H3M

fr=forRaa & & fow <91 9 RA @) GE Ja=er
NEIERR

(1) TS

(2) grgcs fdhren

(3) IMets

(4) TAETS W 3iTw 3FRaeT

AR HAGM T BIF 1 3 g9 & Waadl &
JAfTPR B TR a1 & ?

(1) 3BT 15 (2) 3T 21
(3) TP 25 (4) 3T 30
5. oipaa ¥ gufeRUeTdT &7 RIT 98T § ?

(1) anfiics \gwTa FHead ol &

(2) FHTAT 3R T BT 91T <<l ©
(3) SURID ABR &Y e Rl &
(4) SIRKRH AT

Space for IRough Work

PCP, Sikar

Class : VII1/Q-4 I

IT-JEE | NEET | OLYMPIADS 9
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56.

57.

58.

59.

60.
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Which institution in India promotes secularism ?

(1) National Human Rights Commission

(2) National Commission for Women

(3) Election Commission of India

(4) NITI Aayog

In 1977, an act was passed to govern the salary and
allowances of which of the following positions ?

(1) President

(2) Leaders of Opposition in Parliament

(3) Prime Minister

(4) Governor General

What was the primary focus of the histories written by
British historians in India ?

(1) Life of Governor-Generals

(2) Ancient Indian civilization

(3) Revolutions in India

(4) Independence movements

What was a major criticism of James Mill’s periodization
of Indian history ?

(1) It focused too much on economics

(2) It was biased towards British rule

(3) Itignored important Indian rulers

(4) It overemphasized religious aspects

Which of the following was not a focus of the surveys
conducted by the British?

(1) Botanical information

(2) Cultural practices

(3) Economic data

(4) Topographical details

56. MRT ¥ PHIF AT GeqT JHNRULTAT BT 9&1dT il & ?

(1) I AFATRIGR 3R]
(2) SR AT JTART

(3) WIRT BT GATd AT
(4) =l MY

. 1977 ¥ f=faRag & 9 9 g & da9 3R w1 @l

R B & forw e srfrfraw uiia faar i o ?
(1) Rrgafa

(2) 99 ¥ fquer & war

D ECISEFI

(4) TR SR

. IRd ¥ fafew sfosmeRl grr forg v sfasy &r

1afie Wihd T o ?
(1) T R—SRel &1 Sfad
(2) UTdE AR FRIT
(3) IRA # wpifat

(4) ST 3N

. O e gIRT AR SI8TE @ BId—{aureT ol T

A TeT ot ?

(1) S 3N TR 98 3ed a1 feam T
(2) 394 fafeer emas @& ufa vetura o

(3) S HBIYUl AR STAG] BT SUET B T
(4) 399 gT¥® USRIl UR 3rfdd SR e

. F=faRaa % & ei9—wr fafesr grr fbg v wdeTon @or

®g Bl o7 ?

(1) T HEElT SR
(2) WiRpfie ey

(3) 3fm et

(4) ®ITRfaD fqavoy

Space for IRough Work

PCP, Sikar

Class : VIII/Q-4 I
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61. Who became the Nawab of Bengal after Alivardi Khan? l 61. 3rcfiadl @™ & 91€ §TeT BT Taid Hie =7 2
(1) Sirajuddaulah I (1) FERIGEIeT
(2) Mir Qasim | (2) R BN
(3) Mir Jafar | (3) ¥R SR
(4) Shujauddaulah | (4) YoITSEreT
62. The subsidiary alliance system was used by the British : 62. WEU® TSEEH TS &l SYART 3ol g1 fdeam w1am
to: oT:
(1) Increase trade : (1) AR # Eﬂ?g{
(2) Establish political control | (2) TSI =0T AU 6RAT
(3) Promote cultural exchanges | (3) HIEPIAD JATGH-UGTT PI I@TaT -1
(4) Develop infrastructure I 4) gﬁﬁ]ﬁﬁ 3T ®T faer =T
63. Tipu Sultan was defeated in the Battle of: | 63. &Y o™ @l BR Y gg ¥ gs o
(1) Plassey (2) Buxar | (1) wAry (2) TIER
(3) Seringapatam (4) Panipat | (3) AU (4) UTIue
64. The basis of classification of resources are | 64. wemert & e a1 omR 2
(1) level of development and use I (1) AR 3R SUIRT & WR
(2) origin (2) SdfT
(3) stock and distribution I (3) Wi 3MR faau
(4) all of these I 4) 3 T
65. High speed winds, solar energy, bio waste etc were all | 65. Tl T @I AN, AR Hotl, Sid afree anfe a+|r &l
considered as potential sources of energy in the past, : qgel ol & GHIfAd A d1 SITal o, elfd=1 3ot
but today they are all examples of | R | & IS 3 |
(1) Non-Renewable Resources | (1) IR—TNHT FHTE
(2) Actual Resources | (2) TKIAD HATE
(3) Ubiquitous Resources I (3) I AT
(4) Localised Resources (4) RIF G
66. Nitrogen fixation can be done by I 66. ATSgioM Reiayr fohdd gRT fohar ST HapelT ©
(1) Industries I (1) ST
(2) Rhizobium | @) wzeifaom
(3) Lightening I (3) farsTett
(4) All of the above | (4) SURIH |HI
Space for IRough Work
PCP sSikar  Class: vil/o-4 I IT-JEE | NEET | OLYMPIADS )
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67. Some important techniques to cope with Land slide are | 67. qRIA ¥ e @ Y o Js@yyl da-ila <ird &l 5

given below. Pick out the one that is not applicable.

(1) Construction of retention wall to stop land from slipping

(2) Implementation of the surface drainage control
(3) Decrease in vegetation cover

(4) Hazard mapping locate arcas prone to landslides

68. Australia uses its largest portion of its area for

(1) pastures (2) crop land

(3) forest (4) other uses

69. The total percent of land of world under forest is
(1)26 (2)31
(3) 36 4) 41

70. What is the primary cause of uneven population

distribution across the world ?

(1) Varied land and climate characteristics
(2) Cultural preferences

(3) Economic disparities

(4) Political boundaries

68.

69.

70.

2198 g off AN A & |

(1) 9A @I RgddT A A & forw <rar a1 iy

(2) a9 M@l = &1 drtaae

(3) T AR § HHY

(4) TRIAT DI 3MMRABT ATl & BT gaT o & Y
CART AT

Mo 31U+ el &1 |y a1 W fhaa forw

SUART BT &

(1) IRNTE (2) B A

3) (4) 31 SUANT
faeq o qat A &1 ufierd 99 & Siaa &
(1)26 (2)31

(3)36 4)41

e wR & S/ SR fAaRer o urerfid BRor
g7

(1) fafder sgff ofie srerarg o

(2) HIEpfaD qrafFaarg

(3) 3midep SreHTIY

(4) ofae e

Space for Rough Work
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Choose the correct option of tense with correct | 77. What is a noun?
alternatives - (Q. 71 to 73) (1) A describing word

71. She .. e . in this house since 1980. (2) An action word
(1) will be 11V1ng (2) has been living (3) A person, place, thing, or idea
(3) will live (4) has lived (4) A dividing word
72. 1.................. my work before he came. 78. Identify the noun in the sentence: "The sun sets over the
(1) had finished (2) have been finished horizon."
(3) will finish (4) was finished (1) sun (2) sets
73. The @oon e at nig.ht.. (3) Horizon (4) over
(1) sl.nne | 2 Shl.l’lll’lg 79. Which is a proper noun?
(3) did shines (4) shines (1) town () river
Change into indirect speech : - (Q. 74 to 76) (3) London (@) village

I

I

I

I

I

I

I

I

I

I

I

I

I

74. Isaid to Naman, "Look at the map. I 80. In the sentence "The cheerful children played in the

(1) why I asked Naman to look at the map. .
| sound," what is the noun.

(2) I asked Naman to look at the map. | )

(1) cheerful (2) children

: (3) played (4) park
| Identify the pronoun which is in bold word: - (081-83)
| 81. Tell me the truth.
I
I
I
I
I
I
I
I
I
I
I

(1) Personal pronoun

(3) which are I asked Naman to look at the map.
(4) whom this I asked Naman to look at the map.
75. The mother said to Sita, "Do not waste your time."
(1) The mother advised Sita will not to waste her time.
(2) The mother advised Sita would not to waste her time.

(3) The mother advised Sita not to waste her time. (2) Reflexive pronoun

(4) The mother advised Sita should not to waste her (3) Possessive pronoun

time. (4) Demonstrative pronoun

76. The hostess said, "Did you sleep well?" 82. Neither of the twins is active.

(1) The hostess asked if he have been slept well.
(2) The hostess asked if he would have slept well.
(3) The hostess asked if he had slept well.

(4) The hostess asked if he should have slept well. | (4) Indefinite pronoun

(1) Reflexive pronoun
(2) Emphatic pronoun

(3) Distributive pronoun

Space for IRough Work
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83.

84.

85.

86.

We always depend on each other. 87. She is going to come to class tomorrow.

(1) Indefinite pronoun | (1) Going (2) Come
(2) Reciprocal pronoun | (3) Tomorrow (4) Class
(3) Relative pronoun | 88. 1 was extremely sad about the whole situation.
(4) Interrogative pronoun | (1) Sad (2) About
Choose the correct verb from the given option (Q.84-88) : (3) Whole (4) Extremely
She  gone to the market. | Identify the adjective word from given sentences:
(1) Has (2) Went | (0.89-90)
3)Is (4) Was | 89. Aditi makes delicious cakes and pastries.
Rohan _four miles a day. | (1) Aditi (2) Delicious
(1) To run (2) Runs I (3) Cakes (4) Pastries
(3) Running (4) To running | 90. Mith was looking handsome at the party.
Identify the adverb from the given option: | (1) Mith (2) Was
She smiled at me beautifully. | (3) Looking (4) Handsome
(1) Smiled (2) At |
(3) She (4) Beautifully I
|

Space for Rough Work
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Find the wrong number in the given series.
0,2, 10,36, 68,130
(110
(3) 68

)36
(4) 130

| 91.

QTS SRIAT # Terd AT T DI |
0.2.10,36, 68, 130
(1) 10
(3) 68

)36
(4) 130

I
I
I
| .
92. In a code CORNER is written as GSVRIV, how will | 92. U® &g @r9T § CORNER &1 GSVRIV feran S e,
CENTRAL be coded ? : CENTRAL &I ¥ JoR dhedsg fhar Sme?
1) GIRXVEP 1) GIRXVEP
(D | (D
(2) GNFJKER | (2) GNFJKER
(3) DFOUSBM | (3) DFOUSBM
(4) None of these | (4) 379 & P TEl
93. Which letter will be exactly the 9™ letter from the left I 93. 3o JUiATAT # 91¢ ¥ 97 3R 3R TV F 127 31eR
and 12% letter from the right in English alphabet | & 41 DI AT 31ER BRI ?
(H K @L | (H K @L
)M @N L oM @N
94. Choose the missing term out of the given alternatives. I 94, 13U WU fadpedl 4 ¥ W U &l g |
BZA, DYC, FXE, 7, JVI | BZA, DYC, FXE, 7, JVI
(1) HUG (2) HWG | (1) HUG (2) HWG
(3) UHG (4) WHG | (3) UHG (4) WHG
95. Choose the number which is different from others in the : 95. TH W BT I BN Sl B DI A HE13I A
group. | =1 3 |
(1) 13 )17 | (1) 13 )17
(3)71 (4) 63 I (3)71 (4) 63
96. Choose the word for the second analogous pair : | 96. TER WU I & oY e T:
Oceans : Water : : Desert : | HETANR © Ofe @ YRR
(1) Fish | (1) el
(2) Ripples I Q) THT
(3) Sand Dunes | G3)a @& <t
(4) Waves | (4) oT8R
Space for IRough Work
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98.

99.

100.If X means +, — means X ,

PRINCE OLYMPIAD EXAMINATION
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Mohan is facing north-east. He turns 90 degrees in the | 97. HIgd BT Yd IR—Yd Pl AR © | I8 JMIad (2 A 90

anticlockwise direction then he turns 135 degrees in the |
clockwise direction. Which direction is Mohan facing |

now ?

(1) East (2) South

(3) North (4) West

Which of the following word will come second in the
English dictionary ?

(1) Magical (2) Magnify

(3) Maternal (4) Marshal

&Y e & v ag <fromad fem # 135 f&30 goar 21

319 Hig T ¥ fbd fdzm 4 & ?
(1) gd (2) <R
(3) SR (4) ui=H

. iR 9 | i A1 wres UG Sy H SN WA
U 3y ?
(1) Magical
(3) Maternal

(2) Magnify
(4) Marshal

Praveen walked 30 m towards East, then he turned right | 99. HdIUT 30 ¥R Yd &1 AR FeTdl o, e I8 SR gl &

m. How far is he from his starting point ?
(1)30m
(3)50m

(2)20m
(4) 80 m
+ means + and + means —

I

I

I

I

| °

I

I

I

I

and walked 20 m. Again he turned right and walked 30 I
I

I

I

I

then (3-18+11)x13+8=7 I
I

I

I

|

3R 20 #ex Trerel 2 | a8 fhy | i ge1 3fR 30 Hew
AT | I8 37U+ YoM fdg U bl gy & ?

(1) 30 Hiex (2) 20 #ier

(3) 50 Hiex (4) 80 #ier

100.3f¢ X @1 31ef +, — &7 31 X, +~ v 31ef + 3R + ar aref

—A(3-18+11)x13+8=7

(1) 18 )13 (1) 18 )13
(3)11 @1 (3)11 @1
Space for Rough Work
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